IB Chemistry Assessment.
In this lab you will be assessed on the following criteria:
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By adding an excess of zinc powder to a measured amount of aqueous copper (II) sulfate and measuring the temperature change over a period of time you can calculate the enthalpy change for the reaction

Zinc + Copper (II) ions = Copper + zinc ions

This is an individual lab. 

You will require Safety glasses to be worn throughout the duration of the lab, 

25 ml pipette (or a 10 ml pipette), 

pipette filler,

Polystyrene cup

1.00 M copper sulfate solution

6g zinc powder

Digital thermometer/ venier thermometer ( It is important that the probes do do come into contact with the copper sulfate…. Use a probe cover)

Stopwatch

Method:

Pipette 25 ml of copper sulphate into the polystyrene cup.

Stir using the probe and measure the temperature every 30 seconds for 2 and a half minutes.

At precisely three minutes add the zinc powder to the solution.

Continue stirring and measure the temperature for a further 6 minutes (at 30 second intervals)

Repeat the experiment three times.

This lab is assessed on DCP and CE. 

The write up is due in one week’s time. You will be given one class period to work on ‘homework’ next week

